FC-J1

FC-J1(HiSPEC4000)

i = 1A /RE iR s iR, ovif x#s| ECSAkeE#H jkmo085 jksp0.85 | jkm0.90| jksp,0.90
uglem2 uglem2 L. BIERE °C V vs RHE |0, B m2/g-PY| IE, & AJg-Pt | pA/cm2-Pt| AJg-Pt |pA/cm2-Pi
A 29.75 11.76] 0.1 M i@ 30{1.2,10] k| 42.7] 1IE 755 1769 183 430
29.75 11.76] 0.1 M 18 30(1.2,10] B | 456] 1IE 952 2086 229 501
8[0.05%,25uL/cm2 | 0.1 M 18 25(1.2,1.2| B | 54.9] 1IE 835 1520 228 415
B 8[0.05%,25uL/cm2 | 0.1 M 18 25(1.2,1.2| B | 51.3] 1E 1009 1970 269 524
8[0.05%,25uL/cm2 | 0.1 M 18 25(1.2,1.2| B | 55.9] 1E 1397 2500 354 634
Tty — 54| IE| 1080] 2000 2836] 524
c 14.1] 0.50ul/cm2| 0.1 M i@ 25(1.0,1.2| B¢ | 60.9] iE 609 1429 163 382
14.1| 0.50uL/cm2| 0.1 M 18 25[1.0,1.2| B¢ | 53.3] 1IE 954 1790 234 439
D
E
.=| CV-30°C 1E 255 380
— 0.2%12.5uL/cm2| 0. 5 o |1.0, 1. .
F |[[11ug-C/cm2 uL/cm: 0.1 Mi1B ORR-60°C 1.0,1.0( % | 66.7 T8 270 22 62
G
H 200ug/cm2[0.025ul/cm2| 05 M & 35[12, 12| B | 41.3] & 30.8 74.6 5.47 13.3
200ug/cm2[0.025ul/cm2| 05 M & 35(1.2, 12| B | 458] & 28.4 62 547 11.9
. 1174 2161 333 612
— & 0
I ||20ug-C/cm2 ug/cm2| 0.1 M & 2011.2,1.2| B | 54.3] IE ©6a9)| 195 @33 @30
J 26.5ug/cm2|0.008 uL/cm2| 0.1 M 38 25(1.2,1.2| B2 | 40.8] 1IE | 779.3 1910] 241.9 593
ZHETAVOEBEAE - B 0.7V vs © j
%50um,§%$11um = 05 M i B0( Ag/agzs04 %E(D 0002:"1“; | 4 35
L
5.6ug—C/cm2 0.05um| 0.1 M iE 25(1.2, 1.2 B | 44.7] 1IE 571 1279 174 389
M 5.6ug—C/cm2 0.05um| 0.1 M iE 25(1.2, 1.2 B | 44.3] 1IE 576 1300 191 432
16ug—C/cm2 0.05um| 0.1 M iE 25|1.2,1.2] B# [ 50.1] IE 732 1461 197 393
16ug—C/cm2 0.05um| 0.1 M & 25(1.2,1.2| Bx n3 204 421
N
(6]
202ug/cm2| 0.57uL/cm2| 0.5 M %% 60[1.0.1.0| B | 52.1] &
p 202ug/cm2| 0.57uL/cm2| 0.5 M %% 60[1.0.1.0| B | 49.4] &
202ug/cm2| 0.57ulL/cm2| 0.5 M B 60]1.0.1.0| fi [ 616] &
202ug/cm2| 0.57ul/cm2| 0.5 M % 60]1.0. 1.0] A% 4]l &
Q
R 51ug/cm2).05% 25ul/cm2| 0.5 M B 60[{1.2, 1.2 & 28] & 13.9 49.6 1.76 6.3
s 34.04ug/cm2p.05%, 25ul/cm2| 0.5 M f#& 60[{1.2, 09| & 42] 1E 144 342 35 83
34.04ug/cm2).05%, 25ul/cm2| 0.1 M i@ 60[{1.2, 09| & 48] 1E 274 567 103 206
. o 1E 382 866 172 390
T 17.3ug/cm2[0.203ulL./cm2| 0.1 M 1@ 60(1.2,1.2| fz| 4441 a ™ 416 315 14

K-L7avk &Y
Xk=(1d-1)/(1d-T)
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